Attach your work. Answers without corresponding work will be disregarded.
1) The sum of two numbers is 44. Their difference is 16. What are the numbers?
2) The sum of two numbers is 168. Their difference is 24. What are the numbers?

3) The sum of two numbers is 603. Their difference is 91. What are the numbers?

4) 29 coins total $4.25. If the coins are all quarters and dimes, how many of each is there?

5) 96 coins total $7.90. If the coins are all nickels and dimes, how many of each is there?

6) 367 coins total $47.75. If the coins are all quarters and nickels, how many of each is there?

7) At a theater, child tickets cost $4 and adult tickets cost $7. Last night, 58 tickets were sold for revenue of $352. How many of each type ticket were sold?

8) At a theater, child tickets cost $5 and adult tickets cost $8. Yesterday, 154 tickets were sold for revenue of $950. How many of each type ticket were sold?

9) Five bushes and three trees were purchased for $121. On another date, four bushes and eight trees were bought for $192. How much would it cost for each tree and each bush?

10) Eight zogs and twelve nogs were purchased for $74. On another date, six zogs and fifteen nogs were bought for $82.50. How much would it cost for each zog and each nog?

